L]

0

T =

a
2 2
V=1

QO-m

+ 1

2y
57

2
+ m

m="?

m="7

M =)?

PL/11H - FA-transformations de formules_01_1.docx



7:A=8-g-5

-

g A—x-a=123

V+X
E:D: 1
5
11:.-_1"_1‘W=
d
[
1m:/+—=w
5
L ox,—x
12: =

a="
V=7
w="7

PL/11H - FA-transformations de formules_01_1.docx



i

Ly}

O-m m="7

I = Ta
a m=—
g =mt+n m="
m=~Nr-—n
.R_*ﬁ'f"""f'x M=
- R = 350.12 M=35U-IE-R
a-f-x
Fl x‘:" .1;,;: ;1* = l:ZA
A= a3
32 k= >
X
S y - — )
:EG—L(E-I——I) k="
p=to_4
V
ouk:L“_4v
v
v #‘9 2 7 p:q
H—?[Ep +m ) E(ﬁ_ :
= ) p= m
o\ Tz

PL/11H - FA-transformations de formules_01_1.docx



7:.4=8-g-5

sg: A—x-a=13

1m:/4+—=w

g =

8-g
a="

A-13
a=

R

="

5D
"

V+x
w="7?

v—23d
w=

12

[=7
j— Sw

6
x, =17

3k
.T2:?+Il

PL/11H - FA-transformations de formules_01_1.docx



